19‑1
(Key Question)  Carefully evaluate:  “The supply and demand for agricultural products are such that small changes in agricultural supply result in drastic changes in prices.  However, large changes in farm prices have modest effects on agricultural output.” (Hint:  A brief review of the distinction between supply and quantity supplied may be of assistance.)  Do exports increase or reduce the instability of demand for farm products?  Explain.


First sentence:  Shifts in the supply curve of agricultural goods (changes in supply) relative to fixed inelastic demand curves produce large changes in equilibrium prices.  Second sentence:  But these drastic changes in prices produce only small changes in equilibrium outputs (where quantities demanded equals quantities supplied) because demands are inelastic.


Because exports are volatile from one year to the next, they increase the instability of demand for farm products.

19‑3
(Key Question)  Explain how each of the following contributes to the farm problem:  (a) the inelasticity of the demand for farm products, (b) the rapid technological progress in farming, (c) the modest long‑run growth in the demand for farm commodities, and (d) the volatility of export demand.


(a) Because the demand for most farm products is inelastic, the frequent fluctuations in supply brought about by weather and other factors have relatively small effects on quantity demanded, but large effects on equilibrium prices of farm products.  Farmers’ sales revenues and incomes therefore are unstable.  (b) Technological innovations have decreased production costs, increased long-run supply for most agricultural goods, and reduced the prices of farm output.  These declines in prices have put a downward pressure on farm income.  (c) The modest long-run growth in the demand for farm products has not been sufficient to offset the expansion of supply, resulting in stagnant farm income.  (d) Foreign demand has been unpredictable.  Any change in demand will affect farm prices but farmers cannot easily adjust production.

19‑8
(Key Question)  Explain the economic effects of price supports.  Explicitly include environmental and global impacts in your answer.  On what grounds do economists contend that price supports cause a misallocation of resources?


Price supports benefit farmers, harm consumers, impose costs on society, and contribute to problems in world agriculture.  Farmers benefit because the prices they receive and the output they produce both increase, expanding their gross incomes.  Consumers lose because the prices they pay for farm products rise and quantities purchased decline.  Society as a whole bears several costs.  Surpluses of farm products will have to be bought and stored, leading to a greater burden on taxpayers.  Domestic economic efficiency is lessened as the artificially high prices of farm products lead to an overallocation of resources to agriculture. The environment suffers:  the greater use of pesticides and fertilizers contributes to water pollution; farm policies discourage crop rotation; and price supports encourage farming of environmentally sensitive land.  The efficient use of world resources is also distorted because of the import tariffs or quotas that such programs often require.  Finally, domestic overproduction leads to supply increases in international markets, decreasing prices and causing a decline in the gross incomes of foreign producers.

